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The exam contains 94 Paees-total (including the first page) and 05 OUESTIONS'
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euestion 1: (50 Marks) Choose the correct answer (write your answers in the table below):

3

[1]The value of the (+)l i.'

[2]The correct simplification for

A) 5x2 y6 B) 5x2y1o C) 5xya D) 5x3 y6

[3]The factoring of x2 +4x-21 is:

A) ('-z)(x+l) B) ('+7)(x-3) c) ("-z)(x-l) D) (" + 7)(x + 3)

[4]The equation of the line througfr (O,l) with slope m=2 is:

A)y-3x-2 B)y=3x+2 C)y=2x-3 D)v--2x+3

[5f The interval notation of -l <x<2 is:

A) (-1,2] B) (-12) c) [-L 2) o; [-r,z]

[6]The set of points {(s,O),( 2,4),(4,r),(t,t)} is:

A) Not function B) Function C) One to one D) None of them

ftx tl [o I I
1z1rr[+ -t]=Lo y-3)
A)x=3,y-2 B)x

then the values of x

=3,y=-2 c)

and y equal:

x=2 r/=-4 D)x=2,Y=2

D) (-1,-2)
[8]Thevertex of y--2x'- 4x is:

A) (1,2) B) (L-2) c) (-16)

t9l ln(xy) equal:

A) ln(x) + ln(y) B) ln(x) - ln(y) C) ln(x)'ln(y)

l10l If logr(x) = 4, then the value of x is equal:

A) x=12 B) x=81 C) x=64 D) x=27

2Page [Complementary]

,{)16 B)4 c)8 D)6



Ouestion 2: (20 Marks)

Let f(x)-Jx+5 and g(x)=2x-6:

a) Find the domainof f (x). ,:2 X + 5 )r D

x 7r -5
-\L- 5 2 @)

b) Find (f*s)@ > Ftr)+r(/{)
=,m +2-LI-6
= 3 + 8 -6
--@

(/"gXt) f ( 1rtt)
F Q-t-e\

c) Find

d) Find J-Y#rl=7r-
J =zr-
.r =zJ-

6
6
6 J=\+3

x+5= LJ L2 x +3

Ouestion 3: (10 Marks)

Solve the following equation and inequality:

a) 2'-z =32
x-2 tr2- -- 2'\---l

-_-:, X-)= J
b) (x-z)(x+r)>0

X -z=ol X + 3 = o

-. 

1e) | r=? ,J
-f + +

..F

= (^^, -J] u[2 oo)
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Ouestion 4: (15 Marks)

'", 
n =l: ?] 

*, , = [j, l] t''o the rorrowing:

a) A+28--+ t: ?].r[: ';

t: :l - t t ;l = [ 

"'b)ABr tn[r,q=['l-,'

21

sJ

o rrl
o+2 ) _

= rt2 4l
L B zJ

o") A-t. rz l
-t':A =

^l
A

6"-l z's a 5- ( =

k *l =r+ a1-* tJ=l--: +J, 
:,J

=

2
1r't

Ouestion 5: (5 Marks)

Use Cramer's Rule to solve the system (Find only x ):

x+Y+z=
2xy=
2x+z=

[= A,I:l't +b: (,+o+o)-(-zto1z) =O

+ Ax= '3 - .'_t) =O
_, -.\Z____-J

:o6

GOOD LUCK
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